“_______‘"—'—--...______

Q2.

Q3,

Q4,

Qs.

Qs,

Q7.

Qs.

Q9.

General Knowledge / A=y =171

With effect fro
foll:}wi“g ban
of Bﬂl’ﬂda?

m 1 April 2019, which of the
ks stands merged with the Bank

ighest peak of the Aravalli
Mountajp, range
) Saltorg Kangrj b) Chaukhamba
<) Kamet

d) Guru Shikhar
Indig ranked

Index 20919, ——°N the Global Hunger
8) ogn b) 102na
€) 104t ) 920

In Fcbruary 20
its first ‘Restay

Was inaugyrag

b) Trivandry

m Central
d) Cuttack

a) Karnataka

b) Tami] Nady
<) Maharashrg

d) Gujarat
Graftin Eand

techniques used 1o jo
plants, so they appea

arc horticulture

n parts from two or more
Ftogrowasa single plant,
~a} layering

b) cutting
<) budding

d) fusion
Alum is made by dissolving bauxite ip

a) Phosphoric Acid

b) Citric Acid
¢) Boric Acid

d) Sulphuric Acid

Which of the following articles of the
Constitution of India declares the age of
35 years as one of the eligibility criEeria
for the post of the President ol:Indla?

a) Article 60 b) Artfclc 62

¢) Article 56 d) Article 58

In which of the following years did

]ahan7g;r die ? by 1627
a; 1259 d) 1557
C

1.

"2

H3.

H4.

s,

e,

"z,

Ys,

"o,

“5/Set-C

' 1 da @ A
13@?{2019?\,%@3‘?@?&1
atfs gdraT § ®Y AT eIy

i - - ;-' i
afvea dw aife DI

:,)) TAges da 3w 3fEay )

¢) d% i HAeRME 1§

d) & &=

aRTae gda At &Y WA G‘;rﬂ IrE HE—- 27

c) Wre d), T% frer

AR s Yubid (elad i TSWI) 2019 #
AR ROITT R &7 | |

a) oadf b) 1027

C) 104%f d) g2qf

YA 2020 #H, WIRedr LGOI

= YHT UEeT T
AT N sy fsar | ;

WeRe o 3guren
____'Ed&mmnﬁﬂwfrahﬁﬁmnmm

)91 bge b) Prigw <ice

C) JTHTHA d) wew
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il "“'“‘ﬁmﬁ‘@*ﬁwmmﬂﬁm
27
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Q0. Thro - lowing states doe g10.  IEAT
ugh which of the fo i [y M T B -
chambal river, a tributary of Yamuna River grx A oRdl 87
NOT pass? X
: ' desh a) et b) WA WY
a) Rajasth p) Madhya P12
jasthan ) Gujarat ¢) Seed ;1)/ RIS
ety fuT ® uid argeeaEl A 9 @ W

¢) Uttar Pradesh
cles of the Indian 1.
e roauTe 1 RIBIRY W AT S =T

QIL. Which of the following arti -
the power to take over . . :

constitution gives centre X

a state administration on the recommendation

of the Governor? .

a) Article 243 b) Article 356 a) AT 243 b) srgesT 358

¢) Article 124 d) Article 105 c), VT 124 d) srgus 105
QI2. The president of India may be removed from g1z, P R fed IRT { R B Igafa T

office by impeachmen[ for: H'E"TW FEURE J gerdr A1 Hhdl 27

a) any criminal offence a) !W LR Bl %q g

b) violation of the constitution b) wfurd &1 Ieerad H M

¢) unsoundness of mind ) AR ARl 5]

d) Afas aad &
' TSg

d) moral degradation

Jhijhiya Dance is a popular folk dance of H13.
57 SrEa e 87
b) ST

213.
which of the following states?
a) Bihar b) Uttar Pradesh a) fagr
¢) Madhya Pradesh  d) Haryana ) T Hed d) ERamm
14. 'Which of the following is a technique of qq4, ot @ fAwTE & o = A | & qofTs @
watering plants by making use of narrow srrrd wdt AfTETH BT ST fHar Sl B,
tubings which deliver water tubing directly at Rra g e i @ TS TP wgear &7
the base of the plant? '
a) Sprinkler irrigation a) freemE (REaer) Riarg
b) Drip irrigation .b) euw (fF9) fRf=me
c) Step farming ¢) e Tl
d) Sub - irrigation d) smnfa-—fiarg
le of the Constitution of India g5, WRG @ WRUTT BT S A1 AT ARG Gy
AFTRST P G STER T&TT DAl -4

Which artic
grants const
India? .
b) Article 45 a) 3T 54 b) 3T 45
AC) ITWT 32 d) agwmT 19

itutional remedies to citizens of

a) Article 54 :
c) Article 32 d) Article 19
The pDhuandhar Falls are located on the e, . o d
_________--river. 5§ Godavd! o TeTHId
' b)+ =T
a)) g::’:’ﬁ;a d) Kaveri &) T 5
¢ 5
H w many © nat.oTsaI“herema H17. gg? ar & P o] A e sffaireT
ale of acetic acid! : RASLE!
rﬂ,Olec b) 4+ a) ; 'b) \
a)l ; d) 4 , Q) 2 D
)2 . |
) falluvia! soil-is the new g, e S A el e ki §
,,at)’Pe . db. mﬁmmﬁﬁﬁlﬁﬂ%
'Khadar .« deposite ¥
. qand s b) floods a) =l 'b) T
alluv? . . Y o
) wil'ld d) sno
3 .

¢) ra?
//_ 3



fre e i &1 famrd st Tﬁm

/_ . S 1 i \l
Q19 "Yh“:h among the following has the same 9. :;E%T{Tjnj{ BUAN
f)lr'rIl‘snsion as that of energy? L ) aml (@) b) YRTTREyT
e rque b) Linear momen i 1) Fvirg
c) Moment of Inertia ~ d) Angular Momentunt ¢) vrgearyl d) RSERU
Q20. What does the Sccond letter (from left) ‘< H20. L{lmlﬂfN’ET (.MGE\”U:(EA‘} VBT W R, T
: " N : (ard ) "G T aar aef 2 ?
stand for in the abbreviation MGNREGA- ) zrrdir b) i
a) Gramscwa b) Gramin & - d) &
c) Gross d) Guarantee c) wd :
Q21. Which among the following is Known as the 21, ﬁ:?'{f?ﬂflﬂ § ) g Arel 0w e ST
Marsh Gas? R E: b) QFJ—FT
a) Chlorine b) Ethyne a) :ﬂ‘fl—'i d), HieE
c) Ethane d) Methane c) o '
Q22.  Exposure to sunlight synthesizes which among | %22, g & T @ TP H A \i i HA
8 yn Gﬁﬁ‘{ =T 57
the following vitamins? o T e Wil g e
a) K b) C a) K b) C
<) D 4 E 0D d) E
Q23. In the 1857 Revolt, Begum Hazrat Mahal woa,  {es7 ® fasE H dUA BURG AEc = fer=faia
led the revolt from which of the following 31 e e § faste w1 e off?
places?
a) Jhansi b) Delhi a) ST b) faeeh
¢) Lucknow d) Banaras c) TETH d) TE
Q24. What is the S.I. unit for measuring the go4 &I SraET WO @) TELSTE. THTE Fal 27
luminous intensity ¢
a) Mole b) Candela a) A .b) &S
c) Ampere d) Kelvin c) qfxR d) @fea
Q25. Ram Nath Kovind is the th President §25.  XMARI HIAS TRT B reafa 21
of India.
a) 12th b) 11th a) 129 b) 113
. ¢} 13th d) 14th c) 133 -d) 143
Arithmetic / 3O
Q26.  Anilis asked to divide any number by 7,buthe |u2e.  Ifa &1 60 <7 d=r &1 7 A s &1 &
multiply that number by 7. If he got an answer fa1g e ST 2 AfFT 9 9w W= B 7 9
of 7 then what will be the correct answer? o wY o) afy S S 7 st § @ |9
SR T Bh?
a)l b) 49 a) 1 b) 49
1 1
a7 d)7 )7 47
Q27. Whatis the least number which when divided [527. T Y an Rem g M2 8. 9, 12 ok 15 X
by 8,9, 12 and 15 leaves the same remainder 1 iR oY W= e Ry 3 1 @ Wy quar 27
in each case?
Q28. 1fX%ofonchouris minute 12 sccond, then [ 528, TR UF W @1 X9 1 e 12 Q@€ & @ X
X is equal to: frus avmaw 27 ‘
a) 2 b) 1 ) 2 by 1
1 1 1
4

z:fﬂet-c




229,

Q30.

Q31.

Q32.

Q33.

Q34,

Q35.

Q36.

Q37.

2
. = 26
= Wb ord @Y 20 AT H @R "o € _
9 boys can do a work in 20 days, 6 adults can ¥29. ;g;zﬁ 15 B4 % e wnd ¥ afy 5 @i
Oitin |5 days. If 5 adults and 10 boys work 3 10 ASd Qb Wi FH B §, @ FE QY
together, then the work will be done in: Py st i R . o
o fas1 175 R
a) 9 days b) 17.5 days '2; 11 (f(?FT d) wee an@y ¥
<) 11 days d) question is incomplele
o wF el A 225 $UA F T wend wh @ iR
A dealey buys a wrist watch for Rs. 225 and 1 70 TP HEHT UL 15 4, A Wd 4| Ul T
spends Rs. 15 on its repairs. If he sells the same SR 300 TUA Y FEEr 8, SHSHM M uldwd &
tor Rs. 300, his profit percent is: a) 15% b) 20%
a) 15% b) 20% ).25% d) 30%
c) 25% d) 30% ’
. : @1 25 faAT % H whdl 8 iR Bs@W
& cando a piece of work in 25 daysand Bean | s, A q:ﬁg 20 fo=if ¥ Y¥ FR AHAT 1 T <L 5
finish it in 20 days. They work together forS ?;F; da UE W B T § AR R A U
days and then A leaves. In how many days will i o il FH?
; ) Siar &1 B ¥y o fhaer &= 3 qRr @
R finish the remaining work? -
: a) 15 fa=1 b) 14 fam
a) 15 days b) 14 days d) 11 =
<) 13 days d) 11 days c) 13 R
'The perimeters of five squares are 24cm, 32¢m, | w32, dig @l @ R wHE 24 WL 32 m'x 49[ ﬂi).[
40cm, 76cm, 80cm, respectively. The perimeter 76 I, 80 UH B | T T B AGAl B AN B
of another square, equal in area to sum of the aRAR EFFA aldl TP 30 a9 H1 uRErg g
areas of these squares is:
a) 3lem b) 62em a) 31 W b) s2 ¥
¢) 124cm d) 961¢m ch 124 WH d) 961 ¥rft
The breadth of a rectangular field is one third H33. B AUAER AGH B A Sl daErs 9 us
of its length. If the perimeter of the field is RErs & 1 afE f= o) aRfY 240 Hrex 2, o
240m, the length of the field will be? NG oY ofard enf:
a) 90m b) 30m a) o0 b) 30
¢) 50m d) 60m ¢) 5071 d) so#r
The average of 7 consccutive numbers is 20. The | wsa. 7 waprg deemait T AT 20 21 T § AR T3
largest of these numbers is: @ BE— 27
a) 24 b) 23 a) 24 b)23
c) 22 d) 20 c) 22 d) 20
The decimal fraction 2.379 is equal to W35 ¥ Y 2,379 fawa ENW? 7
2326 2326 2 : '
2) ‘999 ®) “950 ) S b, 253‘39206
2347 2347 2347
c) 7§99 9 990 <) “999 d) 2347
990
Arrange the following fractions in descending wie.  Fr=fafaa ) @y IR 7 N wafkery T
3711 3711
order: =,q,7 57913
73 11 3 7
3 1- -—]‘— b) &% -7 a) = L ___1_ T
a) 510713 9513 ) 5'9'13 b) _Q"%'i_s
1173 ail3 7 1173 11 :
o) %,gﬁ 13"59 VI3 o5 +d) ‘31);-%%
Find the pythagorean triplet whose one number | w37, ?_!T TR Bra s BIRG RRTE T W@ 6
is 6: b)6,9,11 a)6,8, 10 b6 g
] ) N s l
2) 6,810 d)6,8, 11 <)6.12,7 De gl
. c) 6} 12’ 7 5 ' j

5/Set-c




Q40.

Q41,

Q42,

Q43.

Q44.

Q45.

Q46.

Q39,

Raman's salary is increased by 5% this year. If

his present salary is Rs.1806, the last year's
salary was?

a) Rs.1720

b) Rs.1620
<) Rs.1520

d) Rs.1801

Rs.800 amounts to Rs.920 in 3 years at simple
interest. If the interest rate is increased by 3%,
how much would it amount to?

a) Rs.992 b) Rs.1056
c)Rs.1112 d) Rs.1182

The present age of the father is four times the
Present age of his son. If five years ago the age
of the father was seven times the age of the son,
then what is the present age of the father?

a) 30 years b) 35 years

€) 40 years d) 45 years

The difference between the two perpendicular
sides of a right angled triangle is 17 cm and its

area is 84 cm? What is the perimeter of
the triangle? '

a) 40 cm

b) 49 cm
¢) 36 cm

d) 56 cm

A pond is 50m long, 35m wide and 2.5m deep.
Find the capacity of the pond.

a) 4165 b) 4375

c) 4165 d) 3850

An article is sold for Rs. 6500 so as to earn a
profit of 4%. A second article whose cost price
is Rs, 3750, is sold at a loss of 4%. What is the

overall gain or loss percent in the whole
transaction?

a) Gain 45%
¢) Loss 4%

b) Loss 1%
d) Gain 1%

If the volume of the cube is 27 m>. Find its
surface area (in m?)
a)9

c) 54

b) 27
d) 24

The number of factors of 3600 is:
a) 45 b) 44
c) 43 d) 42

‘What is the surﬁ of first 30 natural numbers?
a) 465 b) 460
c) 400 d) 462

H38.

w39,

H40.

H41.

H42.

H43.

Ha4,

H45,

H46.

e 5% 4@ o & | A S

%Ezoaﬁqﬁ%,ﬁﬁﬁaﬁwwm?
Y 1720 TUL b) 1620 I

1
2) 1520 TUU d) 180

3 goo TUA T WIRT 920
wﬁﬂ;ﬁm < § 3% @ giE @
ay092 BT
c) 1112

AT gA T TAA MY A AR
mﬂgmﬁwaﬁﬁmaﬁmﬁﬁw
?mﬁaﬂ,ﬁ“rﬂmiﬁﬁﬁﬁc g @dl g7

b) 35 99

a) 30 d) 45 a4

¢y 40 ad

aaa qaneli @ 4" @
Qﬂ?ﬂﬂ?ﬂﬂf’ilpaﬁﬁ '

iR 17 TE & SR gD ErEwA 84 HAP 1 g
&1 ofETT o 87

a) 40 44
c) 36 WAl

b) 49 ¥
d), 56 |

TH e 50 KX w91 &, 35 WX Her # 3R 2
HeX T B | dIE @1 EHAT ST BN |

a) 4165 b)y 4375

c) 4165 d) 3850

Th T 6500 TG F I SN 2, AfF 4%
WWWﬂ‘cﬁla?somamgam-
T TR, 4% T R A o B ) R S
T I A w1 i T 37

2) T a5t b & 19
C) Bt 4% d)) T :(;0
afy U9 @1 3
(m? %)) AT 27 m® ¥ waw S=we =
9

2\54 b) 27

d) 24
3600 B Turss L
a),45 Tt = T
<) 43 b) 44

o d)42

R ag .
ay 465 q@q“@mﬁwu‘mmﬁ
<) 400 b) 460

d) 462



Q7. ) et freii A @ way A et ad - 7
Of the following fractions the greatest {raction TA7. ‘1 18 F;#ﬁ A A
is: H'l:_i_‘_i__ 85 F'ﬁ’g’ﬁ
315046 ,
8 8 b) &
1
4 a L
) A4 1 ) 15 3
- 3 wan L s 1@
Q4s, Whlich of the following numbers is the average U48. m s fb“l’-”r r = ST 55
of = and -11% ? '
| 3 a1
» 3 v 7 Rk s
9 8 <) 75 )
) 25 d 53 )35 7
it gem @ forg gIn Sl e
Q49.  The least integer which should be added to ;9. 1000 W T T7 oy a8 &
1000 : - BIET qoiie it S 98 &
o sO as to make it a perfect square 1s: 2) 10 b) 18
a b) 18
c)24 d) 89 c), 24 d) 89
Q50.  The square root of 0.000064 is: sis0.  0.000064 @ A & 5.0
a) 0.008 b) 0.08 a),0.008 ) 0.08
<) 0.8 d) 0.00008 c) 0.8 d) 0.00008
General Intelligence / wma=a gfaam
Q51.  Substitute the correct mathematical symbols in | ws1. Ereferfaa afireaRe(gaae=) & ™' & T W e
' place of ™" in the following expression. o W < |
24*2*4*8 . 24*2*4*8
a) -+ = b)=+- a)-+= b)==-
c)+=- d)+-= ¢)+=- d)'+_=
Q52. A cyclist goes straight 71@;.1 eas}.;wards, then ms2. T WATEReSl Ao W 7 fad o o oiR amr
turns right and goes straig t 3Km and turns fﬂﬂ' TN oo B 3% e 3 5 rar 2 &k e
right again and goes straight 10Km. In which <19 Heal © R W 10 fF Smen @) gRfAS fig
direction is he from the starting point? J g8 fy fawm & 27
a) South-West b) North-West a) SEvT—uf¥em b) STv—gfam
¢) North-East d) South-East c) SIR—Td ©d) <R—od
=~ - a girl said,” She is the H53, Afgar a6 ST
Pointing out to 2 lady, a gir TH AR AT B
Q33- "1y daughter-in-law of the grand mother of L, T8 A 1 B e 25 |
. tather's only son”. How is the lady related to SHEE 48 2| TR, e & il < 3
. . & ' HER Hafed
the gll’l? ; -
a) Daughter R ) b) 7w
¢) Mother c). At d) =T o
; best depicts the U54,  TH ARG B ‘
.- the diagram that P _ b TS S e
Q54. Idleaf:it;fl apong Classroom. Black Board and g W @) WAy G aeg @ a’;‘l 3R Fher B
re i SRITaT
C) d) a)' - b) C) d)
a)
/ 7 T -



faenatd

P A B
. - o arit o A Gerfaalt A 1
. low. 55. I . : &7
Q%5. Three positions of a dice are given h‘-":“,' . " e TR - T e
Identify the number on the face opposite to 6. 4
. s L3/ 4
6 5 5 6
b)'4
a) 1 b) 4 a)l &) 7
c)5 d)7 )5
. EPRN TR G T oA EAINY SIT
Q56.  Select the figure from the answer figures which | gss. T umfﬂfur‘t‘i o9 st Icﬂ
would replace the question mark (?). g forg (¢) o T T 3% i
Problem Flgurées: 1
Problem Figurey:
D) | 2 B[ BEB) | - |
|_ .l - H
Answar FI:\u u: An=zwer Flgures ——
a) b) c) d) a)- b) c) d)
Q57. Find the figure which is different from the us7.  ag gl =@ @iferg S o A A R
other three. )
|:]___f'i ) [} m \ n O [ n ﬂ]]l . a alo 1] n
ﬂ.) b) C) (.l) 'd) b) C,): .d) ¥
Q58.  One out of the 4 oplions resembles these fﬁSG-. 4 fapedi § 9 v 9y aTgfy I firerar SO & o
figure which is obtained by folding the trans arRe] e wr fadem T 5 wer TreaR T @y
parent sheel along the dotted line, Find the TE B W el
answer, .
Question Figure: b lents
; -
Answer Figures: |3 IR A
S =1 P B
. : . : §
.. . e N V=
a) b) c) d) a0 me o .l
| e TS -
Q59. . 'Metal' is related to which O.f the following W59, T By g )
oplions in the same way as 'Omelet’ is related to ) M ?fm{ rs & iy UET ey B
‘Eggs? PN W R ,
a) ore b) iron ‘ a\ e \
¢) gold d) aluminum <) W b) @
d) wegfnm
{ three consecutive numbers is 15, W60, Afy Hy
60. 1fthcsumo : : o ) TR o _
Q what is the square of thz‘:D I)I‘;gdle number? :3;5?; W ?rm?m P AT 15 2 ot St e
a) 16 d)9 c) 36 b).25
¢) 36 d)o
. o ——
- icat.l




N

N
61,

Sclect the correct mirror image of the given
figure when the mirror is placed to the right of
the figure.

&
alae

Q62. If x means +, + means X, then solve the

expression 16+4xM=8 and find the value of M?
ay4 b) 8
c)6 d) 12

Q63. The given words are in jumbled order. Put these

words in a systematic order.
1. Country 2, Furniture 3. Forest 4. Wood

5. Trec
ﬂ) 1),3: 5;‘112 ; b) 2: 41 3) 195
c)5,2,3.1,4 dy1,4,3,2,5

Q64. What number will come in place of the

question mark (2) in the given number scries?
5,10, 20, 40, 80, ?

a) 140 b) 150

¢) 160 d) 120

Q65. What number will come in place of the

question mark (?) in the given number serics?
55: 58: 64' ?' 85 |
a) 77 b) 70
¢) 67 d) 73

Q66. Which letter will come in place of the question

mark (?) in the given letter serjes?
BDE DHL, FLR, ?

a) HPX b) Hpy
c) HOX d) IQy

Q67. State which one of these words i5 different from

the other three words.
a) wood b) Stone
c) cngine Q) tree

Q68.  Select the correct option and replace the

question mark.

ger. A S gl A TE g wla w A e il W
fur T STHRT B °Tg SR @i oY |

@
ﬂ

T62. Hﬁxmaﬁ+ﬁ,+aﬂmﬁxﬁ.aﬁaﬁmﬁ‘-ﬁ
16+4xM=8 T g1 HY 3 M FT A =0 wmYe
a) 4 b)8
c) 6 d)12

ues.  fu e yrem oramaflerd mA A ¥ T AT B
Frafierd 8 § Ty |
1297 2. gefeR 3.99 4. ATS!

5. 7
a)l,3,5.4,2 b)2,4,3,1,5
c}52,3 1,4 d)1,4,3,2,5

yss. Ay 7TTQ W@ sigen H wyaras fFeE () @ v
q¥ = W& eI
5,10, 20, 40, 80, ¢
a) 140 b) 150
c),160 d) 120

wes. XU Ty W s ¥ wearaw famw () & v
T B T rgn?
55,58,64,1,85
a) 77 b) 70
c) 67 d) 73
%e6.  faw U weR swan i yeTETaw frw (7)  w
R WIT—AT 31&X ATQIT?
BDF, DHL, FLR, ?

a)'HPX b H
C.) HOX dg IQPJ
we7.  FOY B TN & = N
7 Tt D Pt &) T 7 grsg &, O I
a) A i b) e
c), §o11 d) ¥g

nes.  WE fATST W1 W TN N wuy fysm @y SR

AB:EF 1) TH?T;
a) MN b) KL ahMN b)
c) OP (d) LM c) OP d) f;;[
5/Set-C 9 J




! Q69.

Q70.

Q71.

Q72.

Q73.

Q74.

Q75.

dd word from the given alternatives.
b) Bark
d) Bleat

Select the 0
a) Larva

¢) Croak
Replace the question mark (?) with the suitable
option.
3,8,5,27,8, 64,12,
a) 216

c) 625

125,17,7
b) 361
d) 441

Study the arrangement of letters carefully and
answer the question.
XUVMRSTMWNVWOPMWUVACWMV
If all the vowels ar¢ dropped from the above

g will be 8th

arrangement, which of the followin
from right end?
a) W
c) M

In a certain code language 'F
as 'HTQO', then how will 'CO
that language?

b) MOLE

a) REOQ
¢) GOOE d) EQOG

b) P
d)cC

ROM' is coded
ME' be written in

ng wordsina logical

Arrange the followi
uld appear in the en

sequence as they wo

dictionary.
1. Examine 2. Excited
4. Example 3 Execute
a)4,1,3,52 b)53.41L2.
c) 1,4,2,5 3 dl 1,4,2,3,3

glish

3. Exclaim

in each set follow 2

e characters
acter.

Assume that th
find the missing char

similar pattern,

districts Akbarpur is
Dhanbad is bigger than
r than Fatehpurl
rict

.In a group of five
smaller than Fatehpur,
Palamu and Barabanki is bigge
but not as big as Palamu. which dist

is the biggest?
a) Akbarpur
¢) Palamu

b) Fatehpur .
d) Dhanbad

5/5et-C

He9.

7.

H72.

w74

75,

a)‘?ﬂfﬁ b)ﬁ%ﬂmaﬁl \

c) A (FID) d) AR
Wﬁlﬁﬁ’)iﬁwﬁw:sqg?ﬁﬁmwmﬁl

3,8,5,27,8,64, 12, 125, 17,2
a)216 b) 361
c) 625 - dy441

WNVWOBMWUVACWMY
o 'R g Ry @, @
ZIfRY BR W sedl &m?

XUVMRSTM
fz Iurh gl
frefafad # A FI |0

a) W
M

WﬁﬁﬂﬂﬁsﬂwﬁTRo
wﬁaﬂféﬁmmﬁ,a‘rww
& B forar SmyAT?
a) REOQ
c) GOOE

bj P
d)C

M @1 'HTQO' &
# 'COME

b) MOLE
d) EQOG

ﬁﬂ%ﬁﬂ?@ﬁaﬁﬁwﬁmﬁaﬁﬁ&w
ﬁﬁs@ﬁﬁﬁvm‘éﬁ|
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General English

Directions: (Q76-77):- - -
(Q76-77):- Select the option which best expresses the same sentence in indirect/direct speech.

Q76. He said to the interviewer, “Could you please repeat the question?”
a) He requested the intervicwer if he could please repeat the question.
b) He requested the interviewer to please repeat the question.
c) He requested the interviewer to repcat the question.
d) He requested the interviewer if he could repeat the question.

Q77. He said, “Be quiet and listen to my words”
a) He said you should be quiet and listen to my words.
b) He urged them and said be quiet and listen to words.
¢) He said they should be quiet and listen to his words.
d) He urged them to be quiet and listen to his words.

Directions: (Q 78-80):- Select the one which best expresses the same sentence in passive/active voice.

Q78. 'When did he return my books? _
a) When has he returned my books? ' b) When will my books be returned by him?
¢) When were my books returned by him? d) When are my books retuned by him?

Gandhiji started the Quit India Movement in 1942.

a) The Quit India Movement had been started by Gandhiji in 1942.
b) The Quit India Movement was been started by Gandhiji in 1942.
¢) The Quit India Movement was started by Gandhiji in 1942.

d) The Quit India Movement started by Gandhiji in 1942.

Q79.

Q80. 'The modern means of communication have made life so much easier.
a) Life has been made so much easier by the modern means of communication.”
b) Life is being so much easier by the modern means of communication.
c) Lilfe had been made so much easier by the modern means of communication.
d) Life was made so much easier by the modern means of communication.

Directions: ' |
irections: (Q81-83):- Choose the word nearest in meaning to the given words.

Q81. DISASTER
¢) hindrance b} weather ¢) misfortune d)
: none

'Q82. DEMOLISH
a) praise
b) none ¢) meditate : d) dismantl
e

Q83. DEDICATE
a) delay b
) reveal c) none
d) devote

Directions: (Q84-85):- Select
phrase. ct the word/phrase which is closest to the opposite in meaning of the given word
| | . . ord or

Q84. Cumbersome
a) heavy - I
b) automatic - ¢) smooth d)
; convenient

Q85. Procrastinate
i t
a) experimen b) expedite c) exclude ' &
propagate

Directions: (Q86-87):- Choose the
alternative that best expresses the meanin
g of the expressig
' n given in Bold

.
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al of marriage point blank.

iacted his propos
She rejecte P b) Pointedly

86.
< a) absurdly

c) directly d) briefly

His most trusted friend proved tobe a snake in the grass.

a) a hidden enemy
¢) cowardly and brutal

Q87 b) an unreliable and deceitful person

d) low and mean

Directibns: (Q 88-89):- Choose the one which can be substituted for the given words/phrases.
Q88. Theactof produi:ing beautiful hé.ndwriting using a brush or a special pen.
a) Hieroglyphics . b) Calligraphy 9 Stencilling d) Graphics

Q89. A study of sounds. 8
a) phonetics b) stylistics :  ¢) linguistics d) semantics

Directions: (Q90-94):-Read the given passage and answer the questions that follow.

Difficult times could create feelings of anxiety, insecurity and fear. As we navigate through undesirable
situations and uncertainties, we find that negativities surrounding the problems consume our mind. It is in those
times that we have to exert ourselves to change our perspective and adopt a more positive and solution-driven
attitude. Wise people have always chosen to leverage adversities as opportunities for growth and progress, rather
than succumb to negative thought patterns. Saint Kabir described how different people respond when challenged
by problems: “Gold, virtuous people and saints are resilient; you may break them a hundred times and yet they
will re-join. In contrast, negative people and clay pots are fragile; once shattered, they are broken forever.”

The distinguishing feature of the successful is that they have a mindset that enable them to, remain
positive in the face of adversity and even utilise the negative situation for their benefit. The eagle can teachus a
few lessons on this. When the storm starts blowing, it does not cower down before it. It flies to a higher point and
waits for the wind to blow over. When the storm sets'in, the eagle spreads its wings and uses the draft of the wind
to rise higher and higher in the sky. It does not run away from the storm, rather it uses the storm rather it uses the
storm to its advantage. While the storm rages below, the eagle spars' above it. ! . ' ‘

. The winning altitude to overcome despair and stress is to realise that adversities have opportunities inher-
ent in them, and opportunities do not come without problems. Hence, difficulties and obstacles have a positive
side to them as they make us grow from within. A gern gets polished with friction. The finest steel is produced by
putting it in fire. Similarly, the more hardships we face, the stronger we become. - ‘ :

Q90. Saint Kabir believed that saintly péople: _ : :
: a) can be broken easily b) can regain their.strength easily
¢) can be overcome by fear easily - d) are not willing to suffer a hundred times

Q91. Which of the following is NOT a message that the passage gives up?
' a) Difficulties enable us to become stronger as we learn to face them.
b) Those who are positive are fragile and can be easily shattered by difficulties. :
¢) We have to change our view point and adopt a more positive and soultion-driven attitude
towards difficulties. . '
d) Adversities have opportunities as well as obstacles inherent in them.
Q92 ‘fl'}llfh of the following is an ideal way of handling a difficult situation?
g) M:;E’““S deeply about the impact of adversities I
ing the best use of a situation to your advantage
El)) I;Tvag away from difficulties
ecomi .
mm‘g Overcome by stress and negativity
Q93. When there ig '

a) uses it tg fly
¢} waits for it

a storm, an eagle
away to safety.

: flies hi : |
to end, then starts flying b) flies high above jt, using its force

d) gets sc . :
3/Set-C £: ared and hides to save itself




[ QUi
Q As per the Passage, when we face difficult times:

a) our minds get overcome by negative thoughts

b) we become passively engaged in overcoming them

¢) we start changing our views on life -
~ d) we look at them as opportunities for improvement

Directions: (Q98-100) :- Fill up the blanks with suitable prepositions.

Directions: (Q95-97):- Select the must suitable alternative to fill in the blanks.

Q95.  He is like a body without a soul, an eye without light or a flower without

a) leaves b) fragrance ¢) petal
Q96. The Deputy Manager ------------- to resign because all his proposals were
a) offered; thrown ~  b) threatened; turned c) began; kept
Q97. The counter clerk was very busy and not pay
a) can; help b) could; respect ¢} had; cash

---------- down by his superiors.
d) gave; held

to Sameer’s request,
d) did; attention

4, e we TE 07
a) 7w aff@l I 4w §
C)W;,r@mrmvrd e g,

b)- ue affel Jed wesr
d) un offaY mivr 3N usy

Q98. Disruptive forces in the country are fatal________ the integrity of the nation.
a) to , b) for L c) with d) none of these
Q99.  Politeness is a quality that is alien_ gk Mrs, Kapoor.
'a) form . b)of . c) to d) none of these
Q100. The attitude of the fanatics is always prejudicial otﬁer religion.
a) through byby . . : . ¢)to d) none of these
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